Now multiply by two digits:
When we multiply by two

) HoT U “H T : U digits, we multiply by the units
; : 1, flg first. Then we multiply by the
4 A : 71 75 : 6 . i .
______________ “iiceoionioo tens, placing a zero in the units
x 12 x 2 2 : 4 : 3 column to show there are
: no units.
e . i'a 6.8
IS Feeeees s e P We add the 2 lines together.
+ ; *:16:2:4:0 It's important not to confuse
6 7 :0:8 the carried units and the carried
tens — keep them separate.
b Th : H T U C Th: H T U d Th : H T U
5 s 919 36
x 3 3 x 51 2 X 4 3
+ + +
w e UO
° ::I':’a‘: Use your knowledge of multiplication to work out the missing values:
a 2 8 b 7 P 7
* 3 x 4 x 5
8 2 8 8 2 3 5
d 8 e 6 8 Pt 2 3
X 9 X x
7 2 9 2 0 4 6 5 8 4
g 2 b 1 h 4 2 i 5 b
* x 3 x P 7
4 4 1 2 6 3 9 2




Solve these problems using extended multiplication. Round and estimate first:

e e e:
a 4 4 6 b 1528 c 4 2 9
x 2 x 7 x 8
(2 x6) (7x3) (8 x
(2 x 40) (7 % 50) (8 %
+ (2 x 400) + (7 x 700} +* (8 x
e: e e:
d 3:1:1:9 g 5t 3441 f 3::8 22
x 8 x 7 X 5
(8= ) (7x__)
(8% ) (7x )
(8 ) (7x___ )
+ (8% ) + (7x___ ) +

Once you have the hang of extended multiplication, you can apply it to larger numbers. Try these:

(2x5)
”[thl-()} :
" (2x200)
.....{30x5} ;

(30 x 40)

(30x200)

(3x9)
"{3>c20} :
" (3x300)
.....{mxg}
”{40><20}
m{40><3m}

(2x8)

(2 % 30)

0200

coxa)

(50 x 30)

(50 200)




